A466 Pants With Garter Stitch Cuffs

MEASUREMENTS

Months 0 3 6 12 24
Fits waist cm 35 40 45 52 54
Length cm 28 32 37 43 49
Yarn Required:

Lincraft Double DK 200g balls 1 1 1 1 1
DIFFICULTY eee

NEEDLES:

A pair of 4.00mm knitting needles.
Wool needle for sewing up.



REQUIREMENTS:
A stitch holder.
Hat elastic.

TENSION:
22 sts and 28 rows to 10cm over sticking st, using 4.00mm needles.

BACK AND FRONT (make 2)

First Leg:

Using 4.00mm needles, cast on 25 (28-30-33-34) sts.

Knit 9 (9-11-13-13) rows garter st, first row is wrong side, and inc 2 sts evenly across
last row ... 27 (30-32-35-36) sts.

Work in stocking st, beg with a knit row, until work measures 11 (13-17-21-25) cm
from beg, ending with a purl row. **

Leave sts on a stitch holder.

Second Leg:
Work as for First Leg to **.

Crotch:

1st row: K25 (28-30-33-34), K2tog, slip sts from stitch holder onto left hand needle,
sl 1, K1, psso, knittoend ... 52 (58-62-68-70) sts.

Cont in stocking st until work measures 25 (29-34-40-46) cm from beg, ending with a
knit row.

Next row: PO (3-0-1-2), * P2tog, P3 (3-4-6-6), rep from * to last 2 (5-2-3-4) sts,
P2tog, PO (3-0-1-2) ... 41 (47-51-59-61) sts.

Waistband:

1st row: K2, * P1, K1, rep from * to last st, K1.
2nd row: K1, * P1, K1, rep from * to end.

Last 2 rows form rib.

Work a further 6 rows rib.

Cast off in rib.

FINISHING
Join side and leg seams. Thread hat elastic through the 2nd, 4th and 6th rows of
waistband, on the wrong side. Sew in all ends.



